1.) Complete the statement AABC ~ _? , and identify the reason why

the triangles are similar.
A. AAKN; S5 ~ W ¥
KN; SAS ~ A
@ﬁm s -
- AANK; AA ~ A 12 C3K

2.) Complete the statement AABC ~ _? , and identify the reason why
the triangles are similar. A L
F. ALGC; SSS ~

AGLC: SSS ~
LGC; AA ~ C
ZAGLC: AA ~ B



3) Suppose AVLQ ~ APSX.
a. Explain how you would find mzZXif m.V = 48 a@ msL = 80.(A - COY .

b. Find mzX. v Mqlej
N~
AS

J A8 \R Q 2.

4) Hank is 6 ft tall. Hank measured the shadow of a tree and found it to be
30 ft long. He then measured his own shadow. It was 10 ft long.
a. Draw and label a diagram that you could use to find the height of the
tree. Write a similarity statement and justify your answer.
b. Write a proportion and solve it to fin e heiéht of the tree.

)~ - -
P X — 30
A \0? X 2
TG [0X= £




Geometry 7-4: Similarity in Right Triangles

Objective: I can find and use relationships in similar right triangles
*Triangle Activity on page 391. You will need a ruler and a sheet of computer paper.

1) Which angles have the same measure as £1?
2) Which angles have the same measure as £27?
3) Which angles have the same measure as /3 ?

4) Based on your results, what is true about these three triangles?

5) Use the diagram below to complete the similarity statement.

ARST ~ A ~A

From the activity, we can conclude that when you draw an altitude in a right triangle, it creates three
similar triangles.

Theorem 7-3
The altitude to the hypotenuse of a right triangle divides the triangle into two triangles

"oV Similay = V\Qofl
A ond ) e otngy WL




The reasqn a]l three triangles are similar is by the &A:fﬁstulate. The two new triangles have a
v angle and at least one angle in common with the original triangle.

In this situation,_weh that both of the two smaller right triangles share. This 1 is
called the \ . The geometric mean in the diagram above is
For any two positive numbers a and b, the fa and b is the positiv€ number x
such that:

A =X X — \/0\_ b
Example 1: Find the geometric mean of 4 and 18. *What does this mean??

X |3 @’\&

QC 1: Find the geometric mean of 15 and 20. X — (0 l,

)( 1—2—_0 /\00 X;—_ ,0@



Two important corollaries of Theorem 7-3 involve a geometric mean.

Corollary 1 to Theorem 7-3

The length of th altltude o the I%Ipotenuse ofari ang& '['M
OQ ne J P cp ~ DB

%—@ ox! A — FC

Corollary 2 to The k

The length of the altitude to the hypotenuse of a tight {riangle separafes the otenuse

so that the length of ea -‘(11 leg of iche tnangiilvs\ -ql»m M
SQAWJV‘L ng W\L\m vij

hgp-

C
A o B

Corollary Corollary 1 to Theorem 7-3
The length of the altitude to the hypotenuse of a right triangle is the geometric é‘—g S %
mean of the lengths of the segments of the hypotenuse. '
Corollary Corollary 2 to Theorem 7-3
The altitude to the hypotenuse of a right triangle separates the hypotenuse so ﬂ—? = j}—%
that the length of each leg of the triangle is the geometric mean of the length g

of the adjacent hypotenuse segment and the length of the hypotenuse.
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G.
In AABC, AD =4 and CD =12.Find BD.

_ X
K X 1= _ b
e Y 243X 3



H.

ARCHITECTURE To find the height of her school building, Mieko held a book near her
eye so that the top and bottom of the building were in line with the edges of the cover. If
Meiko's eye level is S feet above the ground and she is standing about 10.25 feet from the
building, how tall is the building? Round to the nearest %._
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Problems: 1, 5, 6, 9-14, 17, 18, 50

IXL #7 - P.5 & P.7 due Friday at 4pm!



